EARAROBREBRT —5 XN—ZXBISH—F

2023538178 (&) 120#6t85H

K #aitmEe1 2 0@FRS C2 UYSK—K BRI
[xE<%] 1% :1,300,000 . 23#%&:520,000 . 33&:325,000  43#&:195,000 9 . 5 & :130,000 3
RS R 1 BF (F8) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
Yot —T oA 4% 5 E{*gﬁéﬁ 1:17.5 2-2-2 |39.3] - 5 451 m;%% (RatE)
. (=) =
RN PF ) B —RYT YT O | s
N o 8 4 | HEHHEX 1:17.5 1=1-1 39.5| — 8 431 | TBEEL (AotE)
:\\D —j_“?lj’r/\ 3 7 2.0 79%) (-4) EEE%“ °
RiAASIKZ—9 BIRDYIDFPIR BKRAI YR
N P pallt:d 1:18.0 10-8-7 [38.8| — 4 471 | RAE (et
J—=ILEXDL— 583
: (2172 = BiHES
RIIET7RAT7 BNFIVIARYY 2 BT 7—L
XA a9RILK # o6 | UKmT 1:(18).2 776 |39.2| — | 1 | 454 %ﬁ% L_t(i?faff%)
. 1 - =
RAI/RSAY 8Ly REIUT (-5) HaKis
57|10 E—E—=95—Y2 # 5 | EFIAE 1:18.4 8-10-8 391 — | 2 | 483 ?‘;gii (A
" (1) — =
RAVI/RSAY BU—HILF7Z2-X (-6) BRSNS
6111 1=r57 it 4 éﬁmmﬂ 1:(139).0 555 40.2| — 6 | 472 J{zﬁggx (18)
RYTFII— B TFAFIUU— O g s
7l5|5| 7T4—UDRDY # 5 | BN 1:(119).2 12-11-10 [39.7| — | 3 | 468 ggl_(?gff%)
Ridgy NUFR—O 8197 —R/5—) O = e
~ . s 5 | Beh 1:19.4 6-4-4 [40.8| — | 12 | 449 |FEMAE (#otE)
g|gnevrli—o 54.0 3/4) W) |EEEE
ROUIAF—2 H:trhO—LYR RS
—3 4 4 | LUOES 1:19.4 3-3-3 1.2 - 7 486 | MIEA (fat&)
91812 /l:U“/7 _/ oo 56.0 \F) +6) ﬁ“ligﬁg
KRRy I—9ILYI #F:LwRYaES KEHUS
10l5]6 | F—7L10—K % 6 | IHES 1(71?:? 11-12-12 [39.6| — | 10 | 463 %gggﬂﬂ ()
RALYTSYIEL BILETTFLFA ) | Spas ©orU—k—25VF
—3 st 4 | WAESE 1:19.6 469 |40.6| - 11 | 464 |WIAZ (Ho18)
17| Az S 54.0 M AE T
RFA—=IIIAT 4 B:FASUI7 & FiEeF
12179 | F2—-5v75— o4 §%¥ 1:(233.2 9-9-11 |41.0| — | 9 | 436 E%%*(%‘#ﬁ)
R:FVHh—0 BHYIRIVEUAIL (-5) aF IB—
@ 11— —®BIEfI
13—7+—
20—F— 3,4,12,7,1,11,8,10,9,2,6,5
30—7— 3,4,12,11,1,7,8,2,9,10,5,6
40—7+— 3,4,12,11,1,8,2,10,7,5,9,6
o ILRE
B B 4 1,140 | | 94 R 34 4,140 % 3= 3-4 15,370 3EE 2-3-4 41,670H
7B B 4 3504 2-4 1,430 B 4-3 30,5104 3EH 4-3-2 270,250/
3 890H 2-3 4,650M F5 E 3-4 17,710
2 380 =51 4-3 34,5004

ABIC OV TRUTEREERRODDZE. THRIIZEL.




